e J2 2 | & padh (BH &Y k) I
i b & X 4%, LN i 4 br & 4%, 4 ik
W 7 B (As) | (Cd) | (Pb) | (Hg) | (Cr) |(Bromate)| (As) | (Cd) [ (Pb) | (Hg) | (Cr) | (Fe) | (Mn)
0.2 50 5 2 10 0.2 10 100 25
ppm | ppm | ppm ppm ppm ppm ppm | ppm | ppm | ppm | ppm | ppm | ppm
el B 2 EoRSLH
107.10. 01 % % - 7= -k3-| <0.24 | <0.03] <0.24 [<0.013] <0.08 8. 93
2 @E k| <0.24 1<0.03] <0.24 |<0.013 [ <0.08 9.81
ey k3 | <0.24 1<0.03 | <0.24 | <0.013] <0.08 14.4 1<3.00[<0.40]<3.00]<0.013][<1.00| 24.2 | 5.04
107.10. 02| g k3 [ <0.24 |<0.03] <0.24 [<0.013( <0.08 15.8
ok | <0.24 1<0.03] <0.24 | <0.013] <0.08 11.3
R s EAkE ] <0.24 [<0.03] <0.24 1<0.013] <0.08 18.4 1<3.00[<0.40]<3.00]<0.013[<1.00] 27.3 [ 7.89
107.10. 03| =2z @ k3 [ <0.24 | <0.03] <0.24 [<0.013( <0.08 12.5
< EEE-RH | <0.24 [<0.03] <0.24 1<0.013] <0.08 15. 1 <3.00 | <0.40]<3.00]<0.013]<1.00| 23.5 | 4.48
107.10.09] k2 =E-k3F [ <0.24 |<0.03] <0.24 [<0.013( <0.08 7.11 <3.00 | <0.40]<3.00]<0.013]<1.00| 24.4 | 6.02
B EE RS | <0.24 [<0.03] <0.24]<0.013 | <0.08 7.98
BmiE ok | <0.24 1<0.03[ <0.24 [<0.013] <0.08 14.4 1<3.00[<0.40]<3.00]<0.013[<1.00] 29.5 [ 5.78
BB EH N.D. [ NND. [ N.D. | N.D. | N.D. 7.59 |<3.00] <0.40 | <3.00[<0.013| <1.00] 28.6 | T7.22




